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BE LB 55l s AEAMBSS il Al e Ml A%k

Fe P H #4 SR wh. wn. | TEEE
1 KRR FE KAt FEFF A 142625%k%k454%0045 HHh 800
2 KRR K —EEFT BRIEZE 142625%kkksk4x0059 4 5h 800
3 JCHR R KAt 25 /N g 142625%3k+3k4%0033 HHh 800
4 KR Je ) BEAY ZE 142625%kkkokx0049 B b 1500
5 PN L JE A BEY 2= P 14262535k 005 1 Aok 1500
6 KR4 Je R B ZENI 142625%kskk30k45007 1 A5k 800
7 KEAHH P JE BE A XU % 142625585k 5%0037 & AT A1 300
8 KRR g J B A - 142625%kkiokx017 1 44 800
9 KELA R 7R BEAT ] 142625%kekickiok0050 R 1000
10 KA R [ S X A 142625%kkkHk++( 088 Ao 800
11 PN i ik —#f +&E 142625%kk4k4%0043 A ok 800
12 N7 LR [ S & 142625%#kk444x0039 Ao 800
13 KERH i S ¥ E3E 142625%kk%xk%%0047 A4k 800
14 KRR £ [iF Sy b SIE ! 142625%kk454%0059 Hoh 800
15 KR VY 7R —F Rl 142625 55kkkk5%0 032 Eap ) 800
16 KRR EE [F S FVHE 142625%ickkokiokk0043 Hhh 800
17 KA P KAt AL 142625%kekokox0013 B4 1000
18 PN L Pk —FY Z=H A 141024 3seksk585<00 18 HANEAH 80
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e P #t 14 P wh. wn. gap | HEEE
19 KRR 5 P Ak —At Z#HH 1410243kks0kk40 08 2 HAHNEH 80
20 KRR 8L a7 — K AR 142625%kk4k4%0051 P 800
21 KR 74 7K — A A 142625%kk4k500 20 BN E S 300
22 KB [ S N WA 142625%k#k484%0013 441 800
23 KRR [ S ) EISAW i 142625%#+F++++0054 Ao 800
24 KRR K —FF M T 142625%#%+k5%%0010 “amE sk 120
25 KRR R [ip S b i H 142625%k#k454%0860 A sh 1000
26 KR H 77k —#F g-F 142625%kxk4%4%0018 B ARES 300
27 1 5 GhEE AT Vs E 1426254 #kkxk4x0618 i E4h 80
28 Hi 545 S gAY EER 1426253440620 45 1000
29 i 52 4 B I A SHE 1426255545506 15 & AT A 300
30 1 5= 45 BRI Tk ifg T 141024%kki0kokx0114 Aok 1000
31 il 55 4 il 52 R 1426254tttk 2084 7 A 4t 80
32 R HE N &R 142625tk 205X Ao 800
33 i1 52 e BRI 14262 5skktrskxx207 1 EIEEEY 0 80
34 il 52 45 iy 52 A% e 142625%kkk5k4x2055 =20 80
35 ity 5 45 =2y TEE 142625k #k454%2050 HHh 800
36 i 5= £ it 5% A F& % 142625%k+F++++2054 HHb 800
37 Hi 5= 5 Hi 5= TRER R 142625%kkxkk4:0644 a5k 1000
38 i == $5 iy == A% R 142625%k%k454%2076 A4h 1000
39 Hi 545 S FLiGHE 141024 kkkskeokx023 1 44 1000
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5 # % S 61 wh. wn. gap | HEEE
40 iy 2 4 i NaR 14262 5kkks0k k061 7 A E S 80
41 == £ BT 14262 5%kkskkokok 0617 H 4k 800
42 55 FE T 142625%k%kk%%0610 HHk 800
43 HE EEHN 142625%tksctoichkok 2057 CED 800
44 i 5= et i 142625%#+H++++2053 A E 4 80
45 iy 2 ¥R 14102435555k %%01 15 A 800
46 1 5= AL 142625%%k%x%%%2069 HHh 800
47 iy 5= 5 ZEA 142625%kxk+%4%2050 H 5k 800
48 1 5 BTN 142625%kkkxk%%2057 HHh 800
49 Hl 5 45 RN 14102420154 Bk 80
50 i 52 T Sl 14262 5tk 42 064 & 5h 800
51 1 5= 45 2N 142625%kkskk4% 2064 AW T 300
52 il T2 HE SR 141024 85880401 13 R 800
53 i 5= 5 T 14262 5%kkskck 4% 2067 HAk 1000
54 il 524 KEE 1426255845506 16 HHh 800
55 Hi1 22 45 S 1426252065 GILLED 300
56 R T 1426253%kksickok 2077 A4k 1500
57 i 5= £ sH® 142625%#+#++++2005 AT A 300
58 5= 45 L 142625%kkkk4x2087 CASNEL 300
59 i == $5 6 1 142625%k%k454%2050 B AT Ak 300
60 Hi 545 Tl 14262535k 2062 45 800
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P # 4 P wh. wn. gap | HEEE
2 s 4+ LEB 142625%kd0kkiok206 1 A5k 800
iR & FREG S 142625tk k2 056 HoHh 800
5= 5 At Pt 142625%kkkk52070 HHhh 800
i 52 6 EgEH e il 1426255 k5455506 18 & AT A 300
=1 P HH A RS 142625%+kkk+52056 HHh 800
i R=gi sk A P AtE 142625%kkkskk%%2050 A4k 800
=48 P S A Rz 1426255 k545 x%2095 BN T A 150
BRG] PRy A = LRI 1426253%ksokkokk205X B AT Ak 150
iy 24 P LA = 142603%kkkxkxx781 2 HHh 800
= 4 PN 4E A T 14262 5iksoksokk2094 2 A T A 300
iii Rt P SE ) ENaTeL 1426255548420 7 R 800
5 85 SRR T/ 142625%kkokksokx 2054 & oh 800
1 =245 PR H e 1426254k kkk4%21 08 Aok 800
HER BRI A 142625%kickiokk205X H4h 800
it 22 g P JE A BT 142625%kkk45 2063 HHh 800
il 5= 45 ERERN ERAR: 142625% k44452079 i E 4 120
R N FEFFt 142625tk #x3628 2R3 80
i 5= £ W A ERF 1426253k +H++++2062 HHb 800
Hi 5= 5 P LA i Fm 1 142625%kkkk4x2063 ‘A4 150
i == $5 5|t £V ) o R 142625%k#k454%0656 “oh 1000
Hi 545 Aerats BHR 1410243k 45k4%0126 B b 800
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82 IR S| iEN TS 141024 s%sickioksioksk0 1 38 H4h 800
33 e JeAaF ke 1426253 ctkokloxk 0617 &b 1500
84 5= 5 8|tk Fh ] 1410243sskkk8x0157 HHhh 800
85 i1 22 4 Aekakt AL 1426250614 Gkl 800
86 iR et u |t €V ) AL 142625%kkkHk++06 1 X Ao 1500
87 HR=R ) EEZN A [ 142625%#%+k%%%06 18 SN 150
88 iy 5= #5 ) X [ 5 142625%k%k454%0610 BN T A 300
89 il 54 RN KA 1410245440086 45k 1000
90 iy 5= $5 RN PR B 142625% #5540k %%2 (052 B AT Ak 300
91 Hl 5 45 ERERN 3 142625%k5k4k45%2054 4 4h 800
92 fify == 48 4 ot ElERY i 1426253kt 2053 Ao 1000
93 5= 4 A ko 142625%k0kk0kioki2050 A4 800
94 i = A =N 1426253kkkk8452 852 A4t 1000
95 R A LIRS 142625%sckkokickx2099 A 1000
96 it 22 g SHE A | ST 142625%kkkk 452068 A AT A 600
97 il 5= 45 A AT 141024sktokkork0 177 A AT Ah 300
98 i 5= Y FEAE 142625k #k454%2056 A4k 800
] i 5= £ VA B 142625%FkkHk++2053 HHb 1000
100 il 54 HEFS X E 142625%kk%5k4%2056 il g B4k 80
101 1 5= i X 14102435k %3k%%01 02 HHh 800
102 Hh 54 LG X B T 141024 #kkkkokehkx0026 B b 800
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103 H 5= 45 g e.Srige 14262 5%kk50k0kk%061 3 H4b 800
104 == £ g A IR I, 14102435kckkekekekk (0052 BHh 800
105 5= B oA ZEEE 141024sspkkk4x0183 HHhh 1000
106 554 Y K1k 14262 5kksck 42079 A4 800
107 iR et 2R £ N 142625%kkkHk%2075 & AT AR 150
108 i E=REA LIRA TR 142625%kk+x%k%%205X A4k 800
109 1 5= 22 ik [E 4 14262553k %%2051 BN T A 300
110 i 5 2 IRFf ik B 5 142625%kkksokhx 2052 ‘A TSk 300
111 i == 6 Tz TrIKE 142625%k%k454%206 | =P 800
112 Hi 545 T LAY TRk 1410245k 4k450142 A4 1000
113 iii Rt & [ 1426258484620 65 R 1000
114 = b R 142625kkkkiokk 2050 E 800
115 i = SIERG] INEE 142625%ks0ks0k8%205 1 T EAb 80
116 54 iR PR 142625%kkkk0k4%2058 A4 800
117 3 fo 4 =R AT 14262554k %% 3468 A4 800
118 AT EA A HEAH) 142625%ksksk4x3454 H4h 800
119 Sk FA e 141024skk54500 1X A A B 300
120 R FERE HELE 14262 5%FkkHk %3450 HHb 800
121 F R HH —y KA 142601 #kkk5k458522 ‘WS 80
122 I RESFE =% AL e 142625%kkk454%041 1 A4h 1000
123 ISR =R A E R 1410243kk44k%0098 A 4h 800
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124 I RERRH = 5K FEAY e 141024 s%sickioksioksk0 1 68 HH 300
125 SRR 2 oK S Pz 142625%kckkkkk5x0439 B hk 1000
126 I IESFEE = 5K A T i 142625%kkkkk4%(444 HHk 800
127 )4 T2 5% FE A T Y 142625kskkkk450412 44k 1000
128 ISP PR FEUEEFL 142625%k++kk+%0416 Bk 800
129 SRR FE IR Y Mg 4L 142625% k% sk xx0419 HN 80
130 I RESF R P A i 142625%kkkH0k4%x04 19 HHh 1000
131 ST 7 R X 141024%kk4554%0206 HH 300
132 [ =5 A 71 3 B 142625%kkkkk4%0412 =P 800
133 ISR B AT KHEN 142625%kkkkx043 1 A4 800
134 I ERF B K5 W 1410248084040 048 R 800
135 ISR B3 AY BRI 1426253%kkskkkx0413 AW 300
136 JRESRE P HE =uk 142625%kksk5k%%04 14 R 800
137 ISR oK s 1 1410243kt 048 AN 300
138 JU A Bl S ZZR N, 14262 5tk 042X & 4h 800
139 )RR T A kA 1410243ksk554x0060 H4h 800
140 IS AN BB 142625%kkkki4x1724 Ak 1000
141 | SFE E AT FUAR 1410243kk+5+%003 | HHb 800
142 e REFEH AN 142625%xkkxkxx081 1 a R Bk 120
143 e 251 KEFOH z3e! 142625%k+k454x0767 A4h 800
144 AR 2245 REFEH P 142625%%kkkkex0774 Aok 800




BEEUBEST 55 2 55— HEAMIN S Lt lb A a4

e P #t 14 P wh. wn. gap | HEEE
145 e REFCH 5k PHPH 142625%kckiokiok0753 H4h 1000
146 WA 2 4 RAFEH i 1426255k 77X P 1000
147 HiE=3is B H A 7RSI 142625%kkkk54x0763 HHhh 800
148 g & H A 4B 14102 4skksk0k 4001 2 A4 800
149 iE-—3i-1 RAFHH IERETT 1426255554540 780 HINE S 300
150 e B H A T A4 142625%kkxkk%%078 1 HHh 800
151 i 231 RN 0%% 142625%k%k454%0762 A sh 800
152 A 22 REFS N 142625%xkkxk5x075X A4t 800
153 i E 201 RN e 1426254540755 =P 1000
154 A 2245 REN Rk 142625%kkkekodx0752 45 1000
155 B 22 RHE N [EBESE 141024 35sksksksk550 1 84 B Hh 800
156 ] 24 REH R 1426253%kk4kkk %0777 A4 1000
157 HA %24 rd LA S 142625%kk5k54%0794 R 800
158 i) 2245 P LA Fl A 142625%kkokk4%0759 A 800
159 I AR ) AL % 14262554k %%0750 A4k 1000
160 A 2246 mALAT AR 142625%k %5k 4%075X Bk 1000
161 AH 224 [Ty ) BEE 1426253540774 A4 800
162 HiE-3i-1 PR A IARAR 142625%#+H++++0756 HHb 1000
163 W] 224 [Ny B 142625%kxk5%x0766 Aok 1000
164 iE3:h PEA AT AR O 1426255 #kk5%x0794 Bhh 800
165 A 224 PR E A R 1426255 kkkkekx07 70 B b 1500
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166 ) 2 45 PN o 142625s%sickioksioksk( 759 A4k 800
167 iE = [N R = 1410243tk 40043 A HEH 300
168 HiE=3is 7K E A FSCHE 142625%kkkkk4x(842 BN E S 300
169 Ik 22 RV FLFF 142625%kkk4k4%1 255 A4k 1000
170 iE-—3i-1 PSURA | 2042 i 14262 5%kkkHkk3k ] 250 Ao 1000
LAl e FLEKEFT HE L 142625%kxkk4%%0778 Ak 800
172 i 231 FLE N 70 5 142625%kkk454%0767 BN 300
173 ] 224 FLAK RS Ao A 142625%kxk54%0776 H ok 1500
174 i E 201 FLE RN FLM IR 14262554k %%0758 BN 120
175 HH 2240 LR ER EE YRR 142625%kkkskkx0753 B HWESIL 300
176 i =2 LK KSR Ik 142625%kkk845<0 770 HHNEAH 80
177 ] 24 L BN e 14262 53%kkkskkkx 077 1 Aok 1000
178 HA %24 LEER Lk 142625%ksk50k85%0 77X A4t 800
179 HF) 245 FLE A Sinese sl 14262558k kk0k k%0754 Hob 1000
180 HH 548 p A K HE 142625%#kk454%0752 A4 800
181 A 2245 AT ik 7+ 1410243sktk454x0039 H4h 1000
182 A L4 pe F LAY =& 142625 #kkksk 40761 AWEL 300
183 HiE-3i-1 AL 5175 W 14262 5%kkkHk++( 767 HHb 800
184 W] 2245 Fa LAY X1 21 #E 142625%k%4k54%0759 L0 800
185 e 251 JE ] kA TE/NR 142625%kkk454%0778 HHh 800
186 A 2285 JE T A H| MR 14262550755 B b 800
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187 e Je ] At KT 142625sickioksiokk(753 H4h 800
188 iE = SOES) HER 142625tk #0768 HoHh 800
189 HiE=3is B H A I 142625%kkkkk4x0755 BN E S 300
190 WA 25 E H AR BHH 1426255484077 2 B ANEA 120
191 iE-—3i-1 A 20 142625%k5k45450777 Ao 800
192 e B H A TR od 142625%kkkskkx0438 Ak 800
193 i 231 A 2 )1 M 142625%k%k454%0813 A sh 800
194 Al 2256 B H A A0 142625%%+k54%0779 BAWES 80
195 NIEF S FhA 1A KBS 141024%%k%5kx%008 1 HHh 800
196 NEFZ AT 54 B 1426255k 1516 45 800
197 WEFE ol ) B 142625%kkk45 1 515 A 4h 800
198 NEFZ FE | 2 142625%kkskkkx 1517 Aok 800
199 WEF S AR PR 14262 5stkssokan 1519 Aok 1000
200 MIEFZ gkt Ry 142625%sckkoksiokk 1510 A 800
201 PMEF S A VH RS g i 142625%kkkkk4x1517 H 1000
202 WSy Z A VgAY et 1410243ktk484x0032 H4h 1000
203 WRsE 2 AR 2= fHg 14262584k 1512 A4 800
204 MIESFZ A VA EHIE 14262 5%kkkHkkk ] 524 AW 300
205 WIS A FY £l 142625%kk4kk4x1513 Aok 800
206 MIEF S FSAL B XK 142625%kkk3k4x 1513 Ak 800
207 NEFZ A8 A U 14262534k sk 4% 1 538 A 4h 1000
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208 MIEFZ ik AR 142625%kekiokiokk 1510 A4k 1000
209 MHF S AR bibiva 1426255k %% 3925 P 1000
210 WfHSFZ AN FEF R 142625%skwksksx 151 1 BN 150
211 WIEFZ %6 )11 AY B 142625%kkkkkkx 1511 44k 800
212 N2 55 ) 114 Z=ERI 142625%Hk+kk+x1534 Bk 800
213 I 2AH H EFf G EHT] 142625%kkxkkkx 1641 Ak 1000
214 Pakis ! H _EAT e 142625% %%k 1630 BN 300
215 IS H EAf KT e 142625%kkksk4x 1620 45k 1000
216 Pk A Nt 142625%k%k4k4%1 653 Hoh 800
217 Pk S ! H EAY T HEHE 1426255k 1613 A4 800
218 Ji SER | T TCRE 142625484004k 1 63X & 5h 1000
219 Pk 1= A WARR 1426253%kkskkk% 1616 A4 1000
220 Vakis:! 1H HNTY 14262 5k 1621 4 1000
221 i SIENSY Y S 142625%kickiokook ] 63X H MRS 300
222 i biENl ot N MY 142625%kkdeklodox 1626 44k 800
223 kS A BlERSE 7 14262 5%kkkHokx% 1619 Hob 800
224 ks H EAY WEZ 142625%kksktok sk 1615 BHEI 300
225 ks SE oY T TLHF 14262 5% kkkHokkk | 622 AN E S 300
226 Ji % H EFY JLIE 5 142625%kk+5k4%1649 ‘WS 300
227 Pk 1 A JEER RS 142625%kkk4k4%]1 629 “oh 1000
228 PIE’S ! H FAf VO R R 1426255kl 1635 “BAREI 300
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229 Ak ! A i 142625%sckkokiokk 1611 b 800
230 i HH FAY i A 4 1426254k 1617 B4 1000
231 I8 A J bk 142625%kkkk0k1 643 BN E S 300
232 )3 T 1 b FEN T 1426255 k545551670 B HE A 300
233 kS A TR 142625%k+H+k+k1622 Ao 1000
234 I 2AH H EFY Ja L 142625%kkkk4%1639 HHh 800
235 Pakis ! H _EAT N 1426255k %%1613 A sh 800
236 IS H EAY O R R 141024%kkk3k40020 45k 1500
237 ks AT TR 5 142625454k %%x1614 B A LA 300
238 Pk S ! H EA VO BK H 1426255k 1616 4 4h 800
239 Ji SER | Bl 14262 5tttk don ] 621 & 5h 800
240 Pk SENISY N 10,28 5% 1410243kks0kk4%0113 A 5h 800
241 A S ERSY EHxRT 142625%kkk484% 1617 BN E A 300
242 k- STERGY o A 14262 5%kkoktokkik 1 617 Hob 800
243 2 H 2 14262555 ksksk4%1 620 & 4h 800
244 Ak A VZAENEN 14262 5%kscksokkk 1 636 Hah 800
245 k! SEloY i} TR 142625%#kkksk3% 161X Ak 1000
246 Ti 4 i EAf DR N 142625%Hk+k+%1625 Bk 800
247 Ji % SENS IS 142625%kkkskxx1645 a R Bk 80
248 kst H AT JEKK 142625% %55k 4%1 63 1 4 LA 300
249 PIE’S ! H FAY BELY 1426255kl 16 17 “BAREI 300
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250 Ak ! A K Aol 14262 53kkskskk3k 1 649 H4b 800
251 ) SN o 142625%#k4ksk4%1619 A 800
252 kS SER BEE 142625%kkkkk%%1 616 B NE S 300
253 2 EN W 3 14262 55kskk4% 1 626 A M E S 300
254 kS A PR 142625%k+H+k+%1623 Ao 800
255 I 2AH H EFf PR 142625%kkkk4% 1634 a W E Ak 300
256 Pakis ! H _EAT JEME 142625%kk%xk%%1 656 BN 300
257 IS H EAf M 142625%kkksk4x 1618 45k 800
258 ks AT Wz 75 142625%k%k4k4% 1 668 HHh 800
259 Pk S ! H EA HeRgrg e 14262 53kskksoknsk 1620 A4 1000
260 Ji A e 1426255 k841633 HHNEAH 80
261 Pk SENISY N 1o, B 1426253%kkskkkx 1612 A4 800
262 7 1H b e 1426255k 1618 HAhh 1000
263 ki SEEflob o ks i 1426253kt 1639 B A ES 300
264 2 H TRIFER 14102435 ksk54%005 3 B M E S 300
265 J1 %4 AT i i Ui 1410243 +3k54%0038 BN EAh 80
266 i H _Ef s e 1426254541 62X AWEL 80
267 ks A Tk 142625%k+H+H+*1629 HHb 800
268 Pk H EFY T 142625%kkcksokdx 1610 a R Bk 300
269 kst I _EAT TR Ty 142625% %53k %%1 625 BN 300
270 PIE’S ! H FAf FERA IS 14262 53wkokskokonok | 634 “BAREI 80




BEEUBEST 55 2 55— HEAMIN S Lt lb A a4

5 54 H % S 61 wh. wn. gap | HEEE
271 Ak ! A JuiT g 14262 53kksksk45k 1 665 H4b 800
272 i HH FAY S e 142625%kksksksksk 161X B4 1000
273 I8 A FLAR S 142625%kkkkk4% 1616 BN E S 80
274 )3 T 1 b /R 1426255 k4% 1614 B HE A 300
275 kS A TR 142625%kkkHkkk | 646 HINE S 80
276 I 2AH H EFf TR IR 142625%kkxkkk% 161X Ak 800
277 Pk SENSY | i 142625%k%k454%1619 HHh 800
278 IS H EAf B LR 142625%kk+5k4%1610 45k 800
279 ks AT T 142625% %540k %x1637 =P 1000
280 Ji 7 H EAY blekZ L 142625%kkksk4x 1618 4 N EL A 300
281 T E4M TR 142625 kskiokok ] 33X B NES 300
282 T e 2 7k & i 4 14262 5%tk 131X A4 800
283 ! R g o 1426254858484 345 A4t 800
284 ki B AR 1 142625%sckiokiokk 1 318 B A ES 150
285 i Bk B A 142625%#kk4%4%1 339 A4 1000
286 ik ! SR B 142625%kkkkk4x 1 323 H4h 800
287 ks FLEEF FLEA W 1426253k 1 31X HHh 800
288 Ti 4 FLHEAT FLERZ 142625%kFHkk4% 1317 Bk 1000
289 Ji % JiiAs TR 142625%kkk4kxx1 327 Bk 800
290 Pk ik TRAET 142625%kkkkk4%] 383 B AN LA 300
291 PIE’S ! Vi T R 1426255kl 1 338 “BAREI 300
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292 ks P4 i A Vi 142625%sickioksiokk ] 965 A4k 800
293 i P 2 N 1K 5 142625%kk4ksk4%1013 B4 1000
294 I8 Hp Ay TR 142625%kkkkk4% 1910 HHhh 800
295 k! L S| EE 142625%skk4k451916 HHoh 800
296 kS HRAL R 5 142625%kkkHokk 1941 HINE S 300
297 T B A T4 142625%kk%xk%%1622 Bk 800
298 hH2Z A ¥ Jigi 142625%k%k454%0552 A sh 800
299 thH 2% A P 142625%kkksok4x0567 45k 800
300 H2Z A g 141024%k%k454%0156 HHh 1000
301 WH % BIEM it 142625%kkkskodx0552 45 800
302 hH 2 A Tl 14262 5tk dox (0572 4 hb 800
303 ihH % B HEH TS 141024skks0kk4%(01 72 A WNESH 150
304 I H% A SN 141024sksks5k %0029 Aok 800
305 thH2Z BN TFES 142625%sckkokiokx0569 A 800
306 I H 2 =ZE Y FEAN R 14262 5%ksksksk k%3327 A4 800
307 i H % =28 FEEG 141024sksckokox0 198 Hah 1000
308 =K~ — A S A 141024skkkk5504 1 X A4 800
309 hH2Z B A Ak A 141024skkk4k++0083 HHb 800
310 ihH 2 R R 140222k kk4% 7526 Aok 1000
311 hH 2 B A e 5 142625%k4k4x0558 HHh 1000
312 H % B IEA FhEK R 1426255 kkkkkek:0029 “BAREI 80
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313 i H2 B M Bt 141024 s%sickioksioksk0 298 A A E A4 80
314 EES A BRI A 142625%kkk545%05 66 B HE A 80
315 WH2Z A TrE% 1410243sskk54x0107 BN E S 150
316 LWHZ P2 F A PR 14262 5%kkskkskskok (055 1 I 800
%17 I H2Z B i 14262 5%FkkHk%(572 Ao 1000
318 NSk~ R BT 1426255 kkkk4x3023 B ANE A 80
319 NEEZ A MER 142625% k4140619 BN 80
320 NEEZ A B R G 141024%kkkkk4x0094 ‘aHES 80
321 EEZ A Lo 142625%kkk454%0552 =P 1000
322 AR I P H&E= 1426255tk 3918 45 1000
323 A L PaBTAY TRt 142625%ekkk45<393 2 R 800
324 A I P AL XU LT 1426253%kkkskkhx 391 x A4 1000
325 A L PHT R TRRE 142625%kk8k04%393 % A4t 800
326 X PEBTAY R 142625%sckkckickx 3950 A 1000
327 A I iREaE o =K 14262554k %% 3954 A4 1000
328 X DS HE K 1410243ssk554x0050 H4h 1500
329 A RSk FIEX 142625448 3 B 4h 800
330 I T kAt BT R 142625%FkkHk++391 9 HHb 1000
331 XA P Rk fiRE 142625%kkkk%%391 2 A4k 800
332 IR Rkt FLEKK 142625%#kkx5%%3910 Bk 800
333 A I W EEAT et 14262553939 B b 800
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334 A ¥ &+ A=A 142625%sickiokiokk 3930 A4k 800
335 A3 ¥ ) {166 4 1426254 kckkekekekk 3965 BHh 1000
336 e iges A i+ e 1410243skkk54x0038 HHhh 1500
337 A B HRBE AR 141024355k 003 1 4 Hk 800
338 X Tk EE A HARA 141024skkk4k%0 176 Ao 800
339 A HREE LR 14262 5kkskskskokokok 3949 % Bk 300
340 X Tk EE A Eo 142625%kk454%3935 A sh 1000
341 ELET R HRBERT [ PR 142625% k45545392 84k 800
342 A3k P Tk B A TEE 141024%%ksks54%0140 B hh 1000
343 X I HKEEAY A 141024#kkkskokx0159 45 1000
344 A IR AL Tk EE fof AR A 1426254kt 3980 B Hh 800
345 A Il TkBE A T % 142625%kkskskskskk394 | HhHb 800
346 X I L Tk BE f L 1426254k k4% 394 x Aok 800
347 X TR BE A EBT 142625%sckkoksiokk 3952 A 800
348 A B Tk BE A HIF 141024 88k454%003 7 H 1500
349 X Tk BEAY S Al 142625%kkkkk4x3925 A4 800
350 AL RS R 1426254k #k454%1029 H 4k 800
351 I T WA L E 14262 5%FkkHk+x3949 HHb 800
352 e /Ei ! A ¥ i 142625%%kkskk%%3925 A 800
353 X H A MRk 1426254k %3k4%3912 HHh 800
354 A T BIER KEE 142625%kk45k4% 1017 H A 300
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355 A + L P IE A} gl B 14262 5%skskskoiokok 1015 BH R4 80
356 A3 +F HIE R F4aP 14262 5%kkskskokokok 1014 H 4k 800
357 AR +F R E A T4k 142625%k%kk4%1010 HHk 800
358 A B + AT 7 R 14262535k 1 038 4 Hk 1500
359 AR + 0 B AEAT T R PR 142625%#k++k+%1015 Bk 800
360 A I HAE A H=% 142625%kk+xk4%101x A4k 1000
361 XL EREA KA 142625%kk4k4%3994 A sh 1000
362 I HEMR A KR 142625%+kkkkx%391 2 45k 1500
363 IR HEIR A [T 142625+ kkkk+53918 HHh 800
364 X I oI A KA 142625543916 B HWESIL 80
365 AN e Al HEE 14262 55kskskokk:394 2 4k 800
366 X 315 B A E|SETEN 142625%k0kkokioki3933 A4 800
367 A 3 FEIE R EE A 14262535kt 3925 AR 300
368 A I B B A i 141024%sckkcki0k50095 Hob 800
369 AT eI A i R 1426253k ksk4639 13 &b 1000
370 XA e A EEF 14262 5%kkkHk %39 1 6 Hob 1000
371 X I 5 A F 5k 142625tk %3948 A4 800
372 SR SRR G SAWs 142625%FkkHkk] 139 HHb 1000
373 DN I EERT W= 4e 142625%kkkk4%1169 A Hh 800
374 Jr R TR R TR 1426253544k 139 4 4 800
375 DiNC3i! BT, KL 142625k 4xk4%1 166 B b 800
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376 BN IR FRARA 1426253k 1111 B oh 800
377 7 EE IR Tk S 142625%#kkkk4%1 158 A4h 800
378 iNt A AR 142625%kkkkk] 162 HHhh 800
379 TR A 2= 14262 5kkskrokax 1 117 A HEH 600
380 SRR SRR AR 142625%k#k#+k+%] 1 5X Ao 800
381 i TREFT RITIT 141024%kx54%4%0053 H A E S 300
382 IR IR EER ZARad 142625k %5k%x1 17X B Hk 800
383 T IERT HE 142625%kkkskak 1 155 H4h 1500
384 TR TR EEAY I A 1410243k 55k4%01 34 Bk 800
385 BN TR WK ok 1426253k 1130 A4 800
386 T IR RN 1426255kt 1 121 Ao 800
387 I RN 2 HE 1426253%kkskkk%1139 A4 800
388 FrEEE BiNEY GRER 142625%#k5k%4%1125 R 800
389 IR IR 1 5 142625%3k0kdox 1027 B4k 800
390 IR IR L AR 14262 5skskskokax 1114 A 4h 800
391 I IR A LT 142625%k45k4%1 135 Bk 800
392 iNEiLo ! IERT B 14262 5tkskokax ] 122 AWEL 600
393 SR SRR H 142625%#+k+k+*]1 153 HHb 1000
394 DN I EERT H/NE 142625%kk4kk4x1149 a5k 1000
395 PRyt IR Lz e 142625%%kskkskk%1118 E W LAk 80
396 PN BT, A 141024 #kkkokedkx0103 44 800
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397 N TR AR TP 141024 s%sickioksioksk0 02 x A4k 1000
398 R RS ¥EE 1426255 kckskekokekx 1131 BHh 1500
399 DiNE e IR gty 142625%kkkkk4x]1 129 “hh 800
400 DN HRIER FH i it 142625%kkk484%1120 H 4k 800
401 SRR EE SN i HE FE 1410243444501 32 Ao 800
402 TR R BT 142625k 1 141 A ok 800
403 IR 5 E HaF 14262555 k441120 LN 800
404 TR i ERT W 2 1 142625% k4% 1118 At 800
405 Jh e VF [E 1426253554k 111 B LAk 30
406 TR ey VRRERE 142625%kkskskk1112 4 N EL A 300
407 PR A FHER 142625485404k 11X HHNEAH 300
408 TR an LA T 142625%kkkskokokx1111 A WNESH 150
409 TR eS| £ 142625355k 1 134 4 800
410 BN a1 F: FRIK 14262 5%kickiokok ] 138 B NE S 150
411 I B LE=20] X475 14262535kt 185 4 ok 800
412 IR 7 B A TR 142625%kdokkk 1117 BN E 4 80
413 DNt TEN IR R 1426255k kskskdx1118 CARAYA 300
414 IR TER ST 14262 5%FkkHkkk] 124 HHh 800
415 R TE&H AR 141024%%xxkk%%0094 A4 ok 800
416 BNk N &+ N 142625%kkk4k4%1 150 4 A LAk 300
417 PN TEH E 1426255 kkkkokodek 1 135 “BAREI 300
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418 N TEHN {ERA 142625%sickioksioksk 1117 A4k 800
419 7 EE TE Z4tdb 142625%kkkkkx%1115 P 800
420 iNt TEA BRI 142625%kkkkk1 113 HHhh 1000
421 DN TEHN FRIT 142625%kkkkk4x1112 B HES 150
422 SR TEHR KEFEF 142625%kkkokksk | 122 HHh 800
423 i RS [P 1426255k 4k 125 AW B 300
424 S SR A BB 142625%k%k4k4%x1117 B A A 300
425 IHEEH AL Mg 142625%kk4xk4%1125 84k 800
426 Jh A I 2R N1 142625%%%k54%1114 B4 800
427 BN AT LA M 1426255k 1114 45 800
428 Fr R SRAEAY A& 1426255kt 1125 B Hh 800
429 IR e ol e 14262 5kkttcioiiok 1136 8 4k 800
430 TR T MRAE A 142625355 k%41 110 4 1000
431 IR At 2 14262 5%kickiokkok ] 123 “4h 800
432 IR A RN 142625%#kk4%4%1139 A4k 800
433 IR FRIEAT It 142625% kot 1110 H4h 800
434 DiNCEL SRS AR R 1410243s8kk5540 058 AN E A 300
435 SR R BriR 2 14262 5%kkkHkxk] 114 HHb 1000
436 DN ) = 3CE 142625%kkxkkkx1111 a5k 1500
437 TR S8 A 580 4=} 14262 THwktkxx024X 4 LA 80
438 DiNC3i! AT PRz it 142625%kk45k4%1119 B b 800
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439 I BRI ALK, 1410243085550 099 HHES 300
440 R an 32 4t AN =1 1426255 kkkskekedkk 1110 AN 800
441 iNt anE Ay EEX 142625%kkkkk1 117 HHhh 1000
442 e B Wi 1410243845450 080 44k 1000
443 SRR &)t W 5 3k 142625%#+H+k+*1 158 Ao 1000
444 T B WMk 142625%kkkskk4%1139 A ok 1000
445 S A L] 1410243k%k454%0079 B A Ak 300
446 IR H)FT W e 142625%kkksokdx1119 45k 800
447 JREETE A ¥ihE 1426255kt 1157 B hh 800
448 TR & ik 14262544k 4k 1133 44 800
449 75 B J& A I 1426253kt ] 115 Ao 800
450 TR I A HEMN 142625% ko 1138 B ok 800
451 TR J& A A 14262555k 1123 4 800
452 P J& A K| 4% 14262 5%kkikokokx 1115 4 41 800
453 I B J& A A 142625kt 1131 4 ok 800
454 IR JE LA Eligeag 142625%kkkkk4x1 126 BN EAh 80
455 TR J&_ A = (A 1410243k 005X 4k 1000
456 IR J& At HE 142625%Hkkkkx1112 Bk 800
457 R J& LAY iR/ (= 142625%kxkkkkx2444 A4 ok 800
458 TR J& A NEESY 142625%%kkxk%%x1126 BN 300
459 PN R _EAf {£EF 142625%kkkxk4x1121 B b 800




BEEUBEST 55 2 55— HEAMIN S Lt lb A a4

o) P 5 4 S Hoh. W, BN *"?‘%@
460 TR JE It AR I 14269 55%kksksksk5%1 130 4 800
461 P J& A EREEE 14262 53%kksekkk:0645 AN 800
ait 325280




